國立嘉義大學101學年度

企業管理學系碩士班（甲組）招生考試試題

科目：經濟學
壹、選擇題(每題2分，共計40分)

1. Production efficiency occurs when production ________.

A) is at a point beyond the production possibilities frontier

B) is on the production possibilities frontier or inside it

C) is at any attainable point

D) is on the production possibilities frontier

2. Suppose the price of a football is $20.00 and the price of a basketball is $10.00. The ________ of a football is ________.

A) relative price; 2 basketballs per football

B) relative price; 1/2 basketball per football

C) opportunity cost; $20.00

D) opportunity cost; $10.00

3. When demand increases, the equilibrium price ________ and the equilibrium quantity ________.

A) rises; decreases

B) falls; decreases

C) rises; increases

D) falls; increases

4. The cross elasticity of demand between Coca-Cola and Pepsi-Cola is ________ so that Coke and Pepsi are ________.

A) positive; complements

B) positive; substitutes

C) negative; normal goods

D) negative; substitutes

5. The decrease in consumer surplus and producer surplus that results from an inefficient level of production is called the

A) external cost.

B) external benefit.

C) deadweight loss.

D) big tradeoff.


6.Suppose the equilibrium wage is $10 per hour. A minimum wage is a ________ and affects employment if it is set at ________.

A) price floor; $12 per hour

B) price floor; $8 per hour

C) price ceiling; $10 per hour

D) price ceiling; $12 per hour

7. If demand is perfectly elastic, a sales tax is paid by

A) only the buyers.

B) only the sellers.

C) both the buyers and sellers.

D) None of the above answers is correct.

8. The principle of diminishing marginal utility implies that the

A) marginal utility of a product is negative.

B) total utility from a product is also diminishing as more units are consumed.

C) rate of change of total utility is diminishing as more units are consumed.

D) rate of change of marginal utility is very low as more units are consumed.

9. The marginal rate of substitution is equal to the

A) slope of the demand curve.

B) marginal cost of each good.

C) magnitude of the slope of the indifference curve.

D) relative prices of the two goods.

10. A market structure in which many firms compete by making similar but slightly different products is called

A) perfect competition.

B) monopolistic competition.

C) oligopoly.

D) monopoly.

11. Which of the following statements is true?

A) In the long run, the average cost curve is always downward sloping.

B) In the long run, the quantities of all inputs are fixed.

C) In the long run, the firms' fixed costs are greater than its variable costs.

D) In the long run, all costs are variable costs.

12. Compared to a single-price monopolist, a price-discriminating monopolist

A) produces more output.

B) produces the same amount of output but charges a higher price.

C) generates a larger deadweight loss.

D) produces less output but charges a lower price.

13. Gross domestic product is a measure of the total value of all

A) sales in an economy over a period of time.

B) consumer income in an economy over a period of time.

C) capital accumulation in an economy over a period of time.

D) final goods and services produced in an economy over a period of time.

14. The labor force is defined as the

A) number of people over 16 years of age.

B) number of people who are working.

C) sum of employed and unemployed people.

D) number of people in blue-collar jobs.

15. Suppose that a bond promises to pay its holder $100 a year forever.  If the price of the bond increases from $1,000 to $1,250, then the interest rate on the bond

A) falls from 10 percent to 8 percent.

B) rises from 8 percent to 10 percent.

C) does not change because it is not affected by the price of the bond.

D) falls from 10 percent to 6 percent.

16. In the absence of a Ricardo-Barro effect, a government budget deficit ________ the demand for loanable funds and ________ investment.

A) increases; increases

B) increases; decreases

C) decreases; increases

D) decreases; decreases

[image: image1.jpg]Interest rate (percent per year)

MSo MS,

0 2.8

1 L 1 1 1
29 30 31 32 33
Real money (trillions of 2000 dollars)




17. In the figure above, an increase in the monetary base would create a change such as a

A) movement from point a to point b along the supply of money curve MS0.

B) movement from point b to point a along the supply of money curve MS0.

C) shift from the supply of money curve MS0 to the supply of money curve MS1.

D) shift from the supply of money curve MS1 to the supply of money curve MS0.

18. Suppose the price level, the money wage, and the price of all other resources rise by 10 percent. This set of changes leads to

A) an upward movement along the LAS curve.

B) a downward movement along the LAS curve.

C) an upward movement along the SAS curve.

D) a leftward shift of the LAS curve.

19. Taking into account the upward-sloping short-run aggregate supply curve, the short-run effect of an increase in government expenditure on real GDP is that

A) real GDP increases by more in the short run than in the long run.

B) real GDP increases by the same amount in the short run as in the long run.

C) real GDP increases by less in the short run than in the long run.

D) real GDP does not change in the short run because the price level increases.

20. Demand-pull inflation results from continually increasing the quantity of money, which leads to a continually

A) decreasing long-run aggregate supply.

B) increasing aggregate supply.

C) decreasing aggregate demand.

D) increasing aggregate demand.

貳、問答題(60分)

一、
（一）請說明造成短期平均成本線與長期平均成本線呈U字型的原因有何不同。(5分)

（二）請說明什麼原因造成完全競爭市場長期的產業供給線呈現負斜率。(5分)

二、
（一）何謂價格上限管制（price cap regulation）。(5分)

（二）價格上限管制與價格上限（price ceiling）在基本觀念上有何不同。(5分)

三、
（一）何謂公共財（public goods），並舉一例說明。(5分)

（二）為什麼公共財無法經由市場供需的運作來提供。(5分)

四、
  請討論當美國聯邦儲備銀行實施貨幣寬鬆（quantity easing）政策後，會透過什麼流程及哪些經濟變數的變化影響美國的經濟。(15分)

五、
（一）請問如何計算失業率，以及失業可分成哪三種類型。(10分)

（二）請說明何謂充分就業（full employment）。（5分）
背面尚有試題
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